O (x+3)° - 6=0& EW?

D x=3++6 @ x=3x2
@ x=-3+12 ©® x=-2x V6

(@)x:—3i\/6

(x+3)°=6=0, (x+3)*=6
x+3==V6
Lx=-3+xV6




A ax? 4 bxt e =0(a#0) o 3 UF F g2 AL

@ b2 —ac>0 ol M2 ohE 2 749] AL 7R,
@ b* —ac =0 °|¥ o] glct.

® b7 - dac <0 ©W 2 7]9] ThE AL 7P

@ b=0°lA F& 7HATE,

@)p—1ac >0 017 AR Th 2 9] Ag T,

b? —4dac >0 °|H A& t= 2 7 o] AZLL 712 1 p2 — dac =0
ol F& 7HA AL, b2 — dac < 0 ©|H o] §ict




OIZFY A 6x% +ax+b =02 F ol 1, 2 L W, a—b & 27

-8 ©-6 06 @18 ©

23} A%o] AR
1+(—2)=—g,a=6




® V7

@ +£+2

@-vi

@ 0

|
?—\ia+1=0

1
FAG o 2 Pt at = 7




x o B OIAHY x —5x -3k +1 =0 0] AR T2 T A2Z
VA W, 3% k o) Agghe

®-3 @-2 @1 @0 ® 2

D=25-4(-3k+1) >0,
95+ 12k —4 > 0,12k > —21
7
k>
> 7]

webd A% ko Hgghe 1otk




